ANT-8/9-PW-LPN x =

TE NEBZRS L9000140-01
TE NEP=fatdilt Antenna 1/4 Wave 868/915 Coil Screw #6

£ TE EmMEE>

R

SO W M
Mo MW
=
e

o
ot
&

RIER

#HR1F/R A
pEICIfk:

TR
T4
TENHA

FEma

. For support call+86 400 820 6015

: Wi-Fi, {EZh#Er 35, T2 r 5
. RE/BRAR
R/ R/ MERE

: 698 -2700

M5

R

REB/ER AT
BETET
XUITEL
B [

698 — 2700

> 6 dBi

B/ ]/ B RE

2754

Wi-Fi, {RIOFEN 3, imAZ ) 15
RTHFES 1M, T2 3Z

07/05/2025 06:47AM | Page 1


https://www.te.com.cn/chn-zh/product-L9000140-01.html
https://www.te.com.cn/chn-zh/product-L9000140-01.html

ANT-8/9-PW-LPN

Antenna 1/4 Wave 868/915 Coil Screw #6

MBEAX - 1Bi51R TE SR~ REE ° >

KREERoHSE<2011/65/EU M BEHRRBRRT
KRERELV$§< 2000/53/EC FAHITEFMEEZ

PEEBEFmA EVEREIERAEEE (ChinaRoHS2» T REMEHELHE
AP AE BIEBHE LR E2016F 5325 %

KREBREACHA#I(EC) No. 1907/2006 KoM {EF mBE IR R & AMBISVHCIREB
B 2025518 (247)
B AR HITESIMEEZ

XESE FARBITRRFTEFIX
JBIETZ8e I ARBEITIFIZ L Z R REME F X
PR A MR RN

EEETFENEMNSIEIRAEURTEXNEN ERHAE EMNIAIAA o EERERETE - RTEMRIARTSEEEROHSHY
iR s o FEmtImEMEEEE ~ SSINE ~ %« PBB ~ PBDE ~ DEHP ~ BBP « DBPFIDIBP R AREARET 0.1% » IRHE AKX
AREAREE 0.01%HFEIEST2011/65/EURoHS2) R EIETTIE S MERIE T o 1RHE2011/65/EU 5 ERBFBES=mEEH
17 CE #RiR ° T miBE L EHITCE 1R o £ TE HIAFT SRR ELV IES N RES » FEmi9mmEd » 8§~ SN
FRERAREAREIL0.1% » BHRAKEREE 0.01% (FREZEI1THE) » FEFEIES 2000/53/EC (ELV) M RAMEHIER
72 o XFRREEREACH A » TE BRIREANYIRPSEXIMHREFTE (SVHC) EERETHMNEEREIER (ECHA) ¥
mPYIRMNERIEE" CONELIAFE2R) @ ERAFRPESEXRIVRSERESITEREIIZ0.1% o TE TR EIRN AR
20155 9B 10BBEE (H#EFEAOS5A : Once An Article Always An Article) » SIF"EZ&#YIm" » BEX IR ERE
MESER T RA S URART R E MG o TE ELETHE ECHA"YImPYIRNEKRIER" (2017568 5H4kR) 5Tk
XTOSAFLNBYIFME » FHAFMEN EFHREACHRIEHRR ©

BEFREWET

9,

TE FRMSANT-916-JJB-HT-T TE &4 SBAT-HLD-001-THM-TR TE P M4 S19000163-01 TE P M4 S19000126-01
Antenna Mini Straight Hi-Temp Battery Holder 2032 2025 THM T&R Antenna Dome 916MHz 1.32 150 UFL Antenna FPC Sub-6 LTE/5G 1.13 100
916MHz THM Pack UFL

9,

TE @4 S19000128-01 TE FEERR=ANT-916-PW-LP TE P EaZRS2213748-1 TE P aRiRS 1-2336396-1
Antenna FPC 868/915MHz 1.13 100 Antenna 1/4 Wave 916MHz Screw #6 COVER,LIGHT CONTROLLER,76MM ASSEMBLY, LIGHT CONTROLLER
UFL DIA,MEDIUM BASE, W/VENT

. For support call+86 400 820 6015 07/05/2025 06:47AM | Page 2


https://www.te.com.cn/chn-zh/product-L9000140-01.html
https://www.te.com.cn/chn-zh/product-1-2336396-1.html
https://www.te.com.cn/chn-zh/product-2213748-1.html
https://www.te.com.cn/chn-zh/product-ANT-916-PW-LP.html
https://www.te.com.cn/chn-zh/product-L9000128-01.html
https://www.te.com.cn/chn-zh/product-L9000126-01.html
https://www.te.com.cn/chn-zh/product-L9000163-01.html
https://www.te.com.cn/chn-zh/product-BAT-HLD-001-THM-TR.html
https://www.te.com.cn/chn-zh/product-ANT-916-JJB-HT-T.html

ANT-8/9-PW-LPN
—_—
Antenna 1/4 Wave 868/915 Coil Screw #6 — TE

connectivity

TE P aaZm S TRA803P
OMNI,SB,PH,890-960MHz 3,PMT

X5

WiIER/HRI
868 MHz/915 MHz Compact LPWA Helical Antenna

SRS

t. For support call+86 400 820 6015 07/05/2025 06:47AM | Page 3


https://www.te.com.cn/chn-zh/product-TRA8903P.html
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=ANT-8/9-PW-LPN&DocType=Data%20Sheet&DocLang=English&DocFormat=pdf&PartCntxt=L9000140-01

